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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10

. i SR oere frapmR e fra :

(a) Name the philosopher whose view was
primarily criticised by G. E. Moore in his
article, Refutation of Idealism.

f& 2 T (98 TR 197 oFwO IO
FACADAT T TAPSRIP A o |
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(2)

(b) What is the fundamental question of Russell’s
logical atomism?

MR SR [AETE (N 2ol 2

(c) Molecular proposition is the truth-function of
proposition.
( Fill in the blank )

s /A 69 370 ForA |
( =R 3% o9 30 )

(d) Write the name of one prime advocate of
Vienna Circle.

O b 9 BCEE QOAI AN forsi o

(¢) Who wrote the book, Language, Truth
and Logic?

Language, Truth and Logic I (IICA
1 iR 2

(f) The resemblances exhibited by language

game are called resemblances.

( Fill in the blank )

SR (3T AT AP S 2e il
( S 3% 7@ 1)
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(3)

(g) According to Russell, a descriptive phrase is
a simple/a complex/an incomplete symbol.

( Choose the correct answer )

AR We IR AW A GOl
ST /(e /BT QIS |
( o= TGO AR Bl )

(h) ‘‘Language has no single essence.”” Whose
statement is this?
Mo Ml ) SR C e 1 b o i | - W U E S ke
CIC SI5AGRCR ?

(i) Who is the propounder of use theory of
meaning?

L] OGS ATOF (1 ?

(j) Which one of the following statements is
true?

Soq (0] O W7 2

(i) Moore is an idealist.

TR R QIR SRAM |

(i) Moore is a sceptic.

T C20R QORI TR |
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(4)

(i) Moore is a realist.

T (R QORI TR |
(iv) Moore is an existentialist.
T oz @IS S |
( Choose the correct answer )
(% Teacor 1R Sfereq )
2. Answer the following questions : 2x5=10
FafeiRe epprz e fm

(a) What is fact according to Russell?
JCRETd qCo B 2

(b) Write the name of two books authored by
G. E. Moore.
f&. 2. Yo 571 1 {3 2= 7 o o

(c) State two characteristics of logical positivism.

SR OrHA 61 (3185 Brey 91 |

(d) How many types of description are there
according to Russell? What are these?

MR oo [RA9R 4F[E @301 7 GREAR F %2

(e) How did Moore distinguish between ‘blue’
and ‘the consciousness of blue’?
IR Rd Qe s Al 967 oA’ &S
NF et e 2
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(S)

3. Answer the following questions (any four) : 5x4=20

frafefe erpry=s Ses fran (R e wif<en) -

(a) How did Russell distinguish between atomic
fact and molecular fact?

ARTIRT ©Y HF HIRT ©4F & A
e o123y e sffee 2

(b) Write a short note on Moore’s Defence of
Common Sense.

TR AR SR LT REeg <61 5 Gt for |

(c) How did Vienna Circle draw the distinction
between strong and weak verification?

S 592 (FTWCE e S Y1 Ao S
o1 et SRR 2

(d) Explain briefly Wittgenstein’s view on private
language.

WA TGS SEISTEARE Tl
B T 34

(e) Write a short note on ‘Family Resemblance’.

“sfifRqifRe P e i 59 Gl ford o

24A /254 ( Turn Over )



(6)

() How Wittgenstein associated with Vienna
Circle? Explain briefly.

TG for te e e wfibe
w1t 2 SCF W0 A |

4. Answer the following questions (any four) : 10x4=40

faferfie eppie Seq i (R e vt -

(a) What are the objections raised by Moore
against idealism? Explain.

S Rea J99 Sfoas@s & 2 asm
1

(b) Give an account of the analytic movement in
the contemporary Western philosophy.

STPIARE PSS e REEITNS Iewe-d 93
4foq qfe 477 |

(c) What do you mean by logical atomism?
Explain and examine Russell’s view.

S AT e R W2 @R oFge e
ST ATFIF A0 S9RCEE |
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(7))

(d) ‘‘Every proposition which we can understand
must be composed wholly of constituents
with which we can acquainted.” Discuss in
the light of this statement Russell’s concept of
truth-functional proposition.

“orerd Io @M T TCE, TNH WO
fmR evRe ARPe 7’9 PRI WER @R
SRR SIS HG-FA 6 YR HCAToAAT
91 |

(e) “A proposition is a picture of reality.”
Discuss.

¢4 g1 o+ C2e TS f5d 177 SICes ¥4

(f) Do you consider the verification theory of
meaning to be an adequate tool for
eliminating metaphysics? Give reasons in
support of your answer.

SRR TG FRCT S TR TSmOl e
31 SR 2 (O T e e Teef |

(g) Explain how Wittgenstein use language as
tools.

SForsEERe SN M e SifRer Rowe
aZR SRRe, T 1
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(8)

(1) How does Wittgenstein refute  the
philosophical ideas of tractatus? Discuss.

TR GeEtey  wrfe  (RPTRE
@R 3G FRCR 2 S0 F41 |

* k&
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